HOLDERS FOR SHAFT WITH SLIT -WITH PILOT SHAPED-

BiF5E

—BE(LFL B —

WHR : R AECALETE M Z R RRFIE L

—RIBRE R/ R/ RIS -

ORIFIRIBIMYERIFLIE 22 P.131
(®)CADE#}3E &8 : 02_Holders_for_Shaft

ORERBIMNIERBLIE 2=P.131
(® CAD&E ¥} 218 : 02_Holders_for_Shaft

K-271

R B
Fas Ei&m Zmism [MEZSS BRmERE DER WiRes EiEm —mizM | e BRERE
STHWRBK|[STHWCBK| oucco RERE A7 FIEIR 1pcs STHRBK | STHCBK| &7 7
STHWRK |STHWCK = ERERER R IR STHRK |STHCK | s4sc
1 SSTHWRK | SSTHWCK | #8#E#sUs304 - 1pcs(SUS) SSTHRK | SSTHCK | sus3o4 -
! Roits 10 OWMAA R LB S N LB,
: 63 ( 1§ ) I WE:: —@iEm
= (D12~30) (D16~30) 2—QH7 63 ( 15 )
. — ﬂ 2—QH7
WEEH W@z =k ) :
F E
Y B ! 18 EEI o s |
-} = ‘ ol T
S m 4—d1 L
5T [([O¥.06 i |
JU BN T | fem =0y T
| g N 7,& =
= oot O NTSEREN
- & 2=Q H7>ﬁy i—d Tvoe o | SEm L Dt | H | T | 2 | P|W|P|F|a|a EER “EEm
= s STHRBK( STHRK | SSTHRK | STHCBK | STHCK | SSTHCK
12 2 24 16 36 6 15 26 - - -
N J— 13 24 18 38 6 15 28 | — = = 4 = = =
'/I'gliiﬁRBK 5{@&%5}( s F® ] 2° ["s0 To0 [a0 [6 [ 18 | ™ ["a0 0 - - | -
iR - . STHRK  STHCK |16 3 32 [ 22 [ 42 [ 6 | 19 32 |2 | 28] 16 .
Al i 3 18 ) 32 28 50 8 20 39 [ 32|31 | 22
Type Dy Egm) L |(DH|T|B|P|W/PH F|ld| S|S| X Y d |d QM yiss SSTHRK (SDSR'QITGSIS(O) 20— oo e o T ws (3515 3351 55
EAm 2 10 |22]32|52 10 | 42| 34 | 35 | 25 | 45 1] 4 4 ol 0| " |® et tw et
STHWRBK || 10.018 6 : 15 L M5%12 @ —EAREERRORT16~30,
STHWRK 16 9.5 30 | 35 | 56 46 | 37 | 37 | 27 | 55 121 5
SSTHWRK 12 9 |56/ 5 |Ms .E;g';;w .|3 price @
. 20 32| 40 | 64 52| 42 | 43 | 30 15 14 SSTHCK20
ZHEEE 1 +0.021 10 8 — 6 — M5X16
STHWCBK | 25 3 38| 45 | 69 57 | 47 | 46 | 34 | 6.6 2 |17
1 0 Delive!
STHWCK 15 5 e o @
SSTHWCK | 30 125 |40 55|79 |10 67 | 57 | 50 | 45 20| 10 | 12 | 6.6 M6 | M6x20
NTSE#EEE
D BiER —mEiEE
' WxiEHEEn LB “Ezm | 00K SEST ]
STHWRBK STHWRK SSTHWRK STHWCBK STHWCK SSTHWCK . __BEiEm [ CEiEE | S
g, STHRENK | STHOBNK | _goiynineg EX Y311
12 ~ STHCNK = ERERE
16 “ DA AR LB SRR T HAIE.
20 " [RotS10) YY)
25 (160,02 WE=W d=a_ P moEEE
i B 2—QH7
30 = #= ) G
- /=1 o °g m “r\ D_:\‘N &=
'Order B = = - s ‘
i > 5N
UMES STHWRBK2S T AN = Q99
T \2—M N4 F | \4=d1
L2 | w
Delivery < L
iﬂl A @Wﬂs
GE; T ” L
L |Di|H|T]|¢ P|W|Pi|F|di|Q][H — @
Price Tvpe DH7 a e STHRBNK|STHCBNK[STHCNK
EE‘ by @wns 12 [+0018_5 | 24 [22 [40 | . [ 16|, [32 2528 [16 45 4
4 B ZHEAR 16 | 0 6 30 28 | 50 19 40 | 32 | 33 | 22 | 55 5
STHRBNK STHCBNK[ 20 | - 35 63 ] o [20 ], [50[40]42]25
STHCNK | 25 0 7.5 38 40 | 68 23 55 | 45 | 45 | 30 | 6.6 6
30 45 | 73 | 10 | 24 | M6 | 60 | 50 | 48 | 35
Order __ Alteration (‘r"; __ﬂﬂ — (mB) @E
THES STHRBNKI2 &mT SSTHCK20 — MB
STHRBNK12 MB
Alterations B 7 B LB iR
Code MB
et @ PR e,
SR ATREE ) (1) 25
OREREEE- BEE
i)z e o -
eSS :J;‘rua} ::s mm’& BVI-12:13-15-16 | M4X3
A 225 g 20-25 M5x4
38| B R A A B 15
WEfAdnes, Bribzsbs 0% M6x5
2pcso 40-50 M8X6

K-272



